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7.1-7.4 and 6.5 and 6.6 Review

1. Fill out the Venn Diagram. If a region lies inside another region then all properties and definitions of the
larger region apply to the smaller region inside. (ex: all properties for a rectangle, rhombus, parallelogram and
quadrilateral apply to a square).
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2. Fill'in the blanks with always, sometimes and never.

A square is A [7/0'/‘4"‘:,’5 a rectangle.

The diagonals of a rhombus c’i/Wﬂbllﬁ bisect each other.
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A sum of the exterior angles of a parallelogram is alw Al 360°.
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A rectangle’s diagonals are M H el perpendicular.

A rhombus is Sd'“VL{ 7L‘" e % a square.

A rectangle g (’W*—f u‘; A has opposite sides parallel.




3. Given one interior angle of a regular polygon 165.6°, find the number of sides.
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4. Given that the sum of the interior angles is 7740°, find the me e-of each exterior angle.
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5. Is it possible to have a regular polygon where each interior angle is 150°? What about 130°?
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6. Find the measure of each angle. 50
Inthe rectangle below, find the measure of the In the thombuc< below, find the measure of the
numbered angle measures numbered angles
i J
ms1=__[1 " mzi=_ 30

1 lﬁb }- ;]3__‘2 = _F&.Q:L_L:m

/(/(\ mz2=__10"

2 me3=_%3" 4 ; 3f ms3=__ 40"

\ ! [ msa-_5%" \kj mz4=_ YQ°
50°

7. Find the measure of each angle.
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8. Order the angle measures from smallest to largest.
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9. Prove that E(-7, -1) F(1, 5) G(4, 1) H(-4, -5) is a parallelogram, then prove it is a rectangle.
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10. Do you have enough information to prove the given quadrilateral is a paral?elogram" If yes, provide a brief
explanation.
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12. Order ides from longest to shortest.
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13. Where angle or side is longer?

A B, Ch B AR A

melms2 \B /_8

14. leen ABCD is a parallelogram and lengths AB, AE, AC and DC as expressions, find x, y, and AB.
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